Post-test 2 review worksheet. MATH 30.

1. Write down the statement of the Factor Theorem.

2. Write down a polynomial with the following properties:
a) It has degree 3 and zeros at —1, 5 and 9.

b) It has degree 4 and zeros at 2, 3 and —4.

c) It has degree 5 and zeros at —3, —4 and 0.
d) It has degree 4, zeros at 0, 1 and —1, and y-intercept 4.

3. Write down the statement of the Remainder Theorem.

4. Find the remainder of the following divisions:

2190 4 2251 — 6223 4+ 5 a1 —4a® — 6zt + 5 o' — 5% 4+ 72 4 5z
a) b) c)
z—1 z+1 z+1
5. Write down the exact value of:
in0 LT i . . T . 2w
sin0 = sin — = sin — = sin — = sin — = sin — =
6 4 3 2 3
. om . om . LI . o . Am
sin — = sin — = sinw = sin — = sin — = sin — =
4 6 6 4 3
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sin —- = sin - = sin -~ = sin —= =
0 m 7 7 T 2T
cos0 = cos — = cos — = cos — = cos — = cos — =
6 4 3 2 3
3 om T 5T 47
cos — = cos — = cosT = cos — = cos — = cos — =
4 6 6 4 3
3 om T 117
cos — = cos — = cos — = cos — =
2 3 4 6
6. Divide the following polynomials using long division. Write the answer as D =d - q + 7.
23 4222 + 22 — 2 3% — 222 — 6247
a) 5 b) 2
x©—2x—1 z°—Tx+5
o) x4+ 222 — 2 d) 4o 4 2 + Tx — 2
23— 20 -1 2% + 3
7. Find the vertex, z-intercepts and y-intercepts of the graph of:
a) f(r)=—-2(x+2)?+8 b) f(z) =3(x—2)2 -9
c) f(z)=-5(x+3)*+25 d) f(z)=2(zx—4)*-5
8. Find all the solutions of the following equations:
a) 3 — 522+ 62 —-2=0 b) 23 + 422 - 82 —8=0
c) 22— 922 +5x+15=0 d) 2% — 622 — 62 +20=0
9. Factor completely the following polynomials
a) f(z) =a° — 22* — 1223 + 1422 + 112 — 12 b) f(x) = 2% — 22" — 62° + 822 + 52 — 6
c) f(x) =2°+32* — 1423 — 1822 + 13z + 15 d) f(x) =25+ 62° + 62* — 1223 — 1522 + 62 + 8

e) f(z)=a2°+2* — 1723 + 1922 + 162 — 20



